Ds 12 2019
(W)

lectwe B

[_\_{g\_ Warm l/(P b (DZL)

Tues  Drseussion [GucE
 Sup Bx 49,50,52
Oh 23 Quashons 9
Prodenms S, 6a

Cirewt  opoation

We know ¥t o et operles b% Ww{% ahwges Howa J&rouﬁk
i oashhnt Pwi-s. Te F’Aereouenfz e

Cusrent = rake of Polenhal  difloere 1 chorgs
cuwrrent Flow = vy izl ot
- 4¢ meve | from ene / S ¢
AT pam‘m‘ v ances / ——F;g’ ;:(?
)A AV= A(Lu"' / } v

“"?qu‘( é'F Hort
detemines ( offor
/ Cllrent ™~
=l /o M

Power  dalivered /&&ésim’td '{
= 0Wyy Py second

=TAV

AV-= TR |
/

\WWP& R s resi.s)z«nc,e/

et

Resislznce dumeu’fg (1 .
FFOMU‘ﬂLW'en




Resistors in Series
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48 Resistors in series
Determine the currents through, voltages across and
the power dissipated by each resistor in the illustrated
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circuit.
a) Determine the current in the circuit. i

b) Determine the potential difference across each
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resistor.
c¢) Determine the power delivered to each resistor.
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